9-3 Solving Exponential and
Logarithmic equations
Obijectives:

| can solve exponential and logarithmic equations
both graphically and algebraically.

Solving Graphically
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Solve the following equations
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Solve the following
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Solve the following
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Suppose that $250 is deposited into an account thattgzhgs

compounded quarterly. Solve fgo find how long it will take for
the account }6 contain at least $50Q./ p\ - nt
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How long will it take for a $250 initial investment in
an account that payompounded Contlnuously

to grow to $750? Pfkk) ? rk

)

“o4st
750 = 29Ce
250 250

/6/\(733 JQH-G‘O%t
An(?) = &‘(5’6 _

RS 08

Comparing acidity: pH = —log [ H ]

I: H ] = hydrogen-ion concentration

Vinegar has a pH of 2.4. What is it's hydrogen ion concentration?

Baking soda has a pH of 8.4. What 1s it's hydrogen ion concentration?

Which has a higher hydrogen ion concentration?
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